21/02/21- Spicy
LO: To find percentages of amounts.

1. 10% of 8000

2. 70% of £5.20

3. 1% of 1450

4. 14% of £67

5. 5% of 9300

6. 5% of 6 000 000

7. 45% of 8600

8. 99% of 3450

9. 68% of 2000

10. 125% of 980

Mo says,

To find 10% you divide by
10, so to find 50% you
divide by 50

Do you agree? Explain why. =

Eva says to find 1% of a number, you
divide by 100

Whitney says to find 1% of a number, you
divide by 10 and then by 10 again.

Who do you agree with?
Explain your answer.

Calculate:

15% of 60 m  35% of 300 g 65% of £20

How many ways can you find 45% of 60?
Use similar strategies to find 60% of 45
What do you notice?

Does this always happen?
Can you find more examples?



